3.5 Factoring Trinomials Part Il

Math 10 Factoring Trinomials — Part 11

Trinomials with a common factor.

2x% + 6x — 20 3a% — 18a + 24
Z2(%*+3% - 10) =3[0*-60 + 8]
=2( x* +5x-2%-10) = 3[0‘ -Ho-20+ 8]
s2(xtus)-2008) = 3[ala-4) -2(a-)|
z 2(%+s)%-2) =3(a-4Xa-2)

Trinomials with multiple variables.

m? — 5mn — 6n?

x% + xy — 30y?
= K +6Xy -5y - 3Oyz =m*-omn+imn-6n*
: 'x('x%))-Sy (%+6y) = m(m-6n)+1n(m-cn)
- (’X*Gy)('X'Sy) = (m-en)Ymn)
Trinomials of higher degrees.
a*+2a2-24 let a*=A 20 + n? —n*
A +2A-24 =-n"+n*+20
= A2 +oA-YA-24 =-N"+N+20
- AAYE)-4(A+6) - -(N*-N-20)
= (A+OXAD =~ [N*-5N+4N-20]
- (@) et -%) - - [N(N-5)+a(N-5)

= - (N-5)XN+4)
= - (n*-S)YN*+4)

Assignment: handout #2bdfth, 3bdf, 4, 5

4t3 — 24t% + 20t
='+t[t‘—at+s]
4t [t‘-5t~1£ +s]
=yt [t(e-s)-ut-s)]
=gt (E-5)t-1)

2p% — 14pq + 244>

=2 p*-Tpq +12q*]

=2 [P‘ -3pq-'tpq +121‘-]
=2 [p(P-Sq) -Lkl(P-&l)]
* 2(p-39Xp-4q)

3d® — 6d3 + 3d

=3d[d*-2d" ¢1 ]
=34[D*-2D 1]
=3d[D*-1D-1D+1]

< 34 [D(D-1)-1(D-1))
=3d(D-1XD-1)

= 3d (d*-1)d*-1)

N7
these can be factored

- we will learn how to
do this in the next |esson






